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Notice that, as » mcreases, T;, (x)

becomes a better approximation to f(x).

b
™

_l_

=

€0

1,296,000

m

%

3)2“

(2n)!

N f;rcos(:r:}d:r—C+Z(

Gn+42
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since power series are continuous functions.
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0.440 (correct to three decimal places) by the

and since the term

Page 1




12.10 11

. 1—cosx . 1—(1—%x2—|—%x4—éxﬁ+.,,}
Eﬁ'lTl —==hi,n — 1.2, 1 3, 1 a4, L .5, 1.6
a0 l+z—e 2=0l4z—(l+at+qa’+523+gat+ma®+525+---)

2 4 (7}
— lim T S Far -
T a0 —L12_Ll.,3_1loa 1.5 _ 6 _
=0 =5 EThd i [k il
1 _ 1.2, 1.4_ 1_
= lim 2! ik +6' ___2 0 — 1
= 1 1 1.2 1.3 1.4 = 1 =
0 —L — L. _ 1 — L — L1 — -1
= TR T AT BIL ik ; — 0

= nan = (_I4)“ —d

63. ngu(—l} g —ngu =7, by (D).
= 3" _ o (35‘5}“ __ 3/

66. ﬂz=: Tl “z=:u o= e by (11).

Page 2




